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PYRAMID POWER i
B R A I N B U S T E R

to check your solution or

(== O -_—
D —3
= KN = when you get stuck.
—3 L]
3z =gEl = ~ m Can You Build all 65?
d == (0]
;‘-E — | :5 S oo %0 Using the enclosed Zometool balls and struts,
iz ERPN—— =y = ‘_é“_ @ m try to find 65 different* triangular pyramids. Remember, build each
§§ = 3 gb' o= = < (See “Puzzler Beware” at right.) A pyramid pyramid one at a time
E = =8 O = — with a triangular base is called a tetrahedron — you can’t build all 65
- —~ & = :_é;‘g = P o o —meaning “4 faces” You can see several pyramids at one time!
=22 ESF o =38 2 c,) examples of triangular pyramids on this page.
= 2 E === Q
2 = o% K=y -5 = % % How to Solve the Pyramid Power Brainbuster: GOOd LUCk!
= > . . .
%" = _g_ 5 ~ E S = 1. Look at the chart in the following section and select r information about Z .
| E § 3 ; the balls and struts you need in order to make the caﬁr:;;:f;g&"é?&ogla(;;s_9%":;%06’6)
% ::gT o~ _g '§_ = \é % first pyramid. or visit zometool.com!
R = . :
—| g 3 = = ; =+ ) 2. Try to fit the parts together so they form a triangular S Zomed'_s based S”bthse 3“;”"— S‘ZTUCt“'a' Ny
= F2 g 2 = \% N = pyramid made of four triangles joined edge to edge. yStegrpffa‘)t}':,:eAlb\{qu‘iu: M vea e
o '~ § 3 &S ’ ’ -
:i‘f:—'_:g.g m 8 3. When you succeed, check it off *PUZZLER BEWARE:
=2 B a2 ) Q. @ =) on the chart, and go on to the
g7 2 a =3 = @) next pyramid. 1. Mirror Images — If your version is a mirror image of one
= = - S = = = b i i i
o= X = = =) you see pictured, it counts as one of the 65 pyramids.
= c = = I is - If you get stuck, the answers : X :
= ; = 3'> = illustrated are on the other 2. P!'oportlon'al Pyramids — Sometlrr]es you can make two
g 5 = k= &5 O m side of this sheet. Use them dlffenfenrt] szes (I)ff the .;ar:e pyramlg, but it S!:Ill counts as
= S = Ko 4 AT A one o the 65. (If you fin: one, eac strut is just one size
3 g 3_ w = = . bigger than the one shown in the chart and on the key.)
= ™ 2@ 3. Flat Pyramids — Pyramids where all the balls lie in the

s

TOP
SECRET
Solution Inside!

same plane don’t count.




